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NEfiz 7LA4vY—% [} R 3] GROSS | HDCP NET
7 B LN &R £k 35 40 75 6.0 69.0
RS Wi FZ 53 36 38 74 3.6 70.4
3L BR = £k 35 40 75 3.6 71.4
A1 EA B £k 43 37 80 8.4 71.6
v 8 ZBER £k 40 42 82 9.6 72.4
(v NEFEF BHE £k 43 45 88 15.6 72.4
Igivs HE 5 £k 36 39 75 2.4 72.6
v e —PUBR £k 38 37 75 2.4 72.6
9L ®BEE AR £k 47 45 92 19.2 72.8
1013z kR BEF £k 43 42 8b 12.0 73.0
1141 =mEE JER! £k 38 40 78 4.8 73.2
12{31 BR EE £k 41 43 84 10.8 73.2
13(z FE H £k 41 41 82 8.4 73.6
1441 hNe BT £k 43 45 88 14.4 73.6
1541 FiE BE £k 46 48 94 20.4 73.6
1641 L TTE £k 42 51 93 19.2 73.8
1741 42 44 86 12.0 74.0
18z k4R =E— £k 42 44 86 12.0 74.0
19z BE —=X £k 44 41 8b 10.8 74.2
201z BE T £k 41 37 78 3.6 14.4
2141 Fifp FES £k 41 43 84 9.6 14.4
22131 =EE =2 £k 42 42 84 9.6 14.4
231 NS i £k 40 43 83 8.4 74.6
24431 38 38 76 1.2 74.8
2511 T AR £k 42 40 82 1.2 74.8
2611 HHE % £k 44 50 94 19.2 74.8
2711 IEE RBEB Bk 42 39 81 6.0 75.0
2811 B B Bk 42 39 81 6.0 75.0
2911 B4R = £k 52 47 99 24.0 75.0
301z ERE OLEE £k 36 44 80 4.8 75.2
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314z 39 47 86 10.8 75.2
3241 Nhe&H E= £k 42 50 92 16.8 75.2
331z FE B £k 46 52 98 22.8 75.2
3441 38 41 79 3.6 75.4
351 kg £k 45 46 91 15.6 75.4
361 EBE %KE £k 43 48 91 15.6 75.4
37fL FEE B— £k 47 44 91 15.6 75.4
38fiL P T 53 49 48 97 21.6 75.4
39fiL =NIT=S £k 37 41 78 2.4 75.6
4011 gH (& £k 37 41 78 2.4 75.6
4141 BE H R 39 44 83 7.2 75.8
4211 EBE = 53 43 45 88 12.0 76.0
4341 BER A £k 44 44 88 12.0 76.0
4441 MR PR Bk 45 43 88 12.0 76.0
4541 TE ERE 53 45 49 94 18.0 76.0
4641 HO A% 53 42 52 94 18.0 76.0
AT{31 NEFF OHE Bk 51 49 100 24.0 76.0
4811 AOB B Bk 41 46 87 10.8 76.2
4911 BIR Bk 42 45 87 10.8 76.2
50fiL B R Bk 39 48 87 10.8 76.2
511iL MR ERE 53 46 46 92 15.6 76.4
5241 BrIER S AL 53 45 47 92 15.6 76.4
53fiL 47 45 92 15.6 76.4
YXiva BAIER 7554 53 46 46 92 15.6 76.4
5541 2% EE £k 49 49 98 21.6 76.4
5641 BR 53 46 44 90 13.2 76.8
571 =5 B £k 40 49 89 12.0 77.0
581z B4R HIBER £k 49 46 95 18.0 77.0
59fiL T & R 47 48 95 18.0 77.0
6011 =fE e B 41 41 82 4.8 77.2
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6111 TE i £k 46 48 94 16.8 77.2
621 IR &S £k 48 46 94 16.8 77.2
631z ERE = £k 45 49 94 16.8 77.2
6441 F=p . B £k 45 48 93 15.6 77.4
6511 47 46 93 15.6 77.4
6671 ER ZEE £k 44 42 86 8.4 77.6
671L 2.7 N = 53 44 48 92 14.4 77.6
68fiL Ml B R 45 52 97 19.2 77.8
691iL BB —% £k 53 50 103 25.2 77.8
7011 Ak = Bk 52 51 103 25.2 77.8
711 BRIER R £k 42 48 90 12.0 78.0
7211 AR BE £k 45 45 90 12.0 78.0
73fiL R & Bk 63 51 114 36.0 78.0
7441 =H R 53 43 40 83 4.8 78.2
7501 =HE R Bk 44 44 88 9.6 78.4
7641 NEFF OB Bk 47 47 94 15.6 78.4
T71L TR IE{T Bk 48 46 94 15.6 78.4
7811 Bl &% Bk 48 52 100 21.6 78.4
7911 EBE EE Bk 50 56 106 27.6 78.4
80fiL BB X 53 46 41 87 8.4 78.6
811iL PR R Bk 49 48 97 18.0 79.0
8211 52 51 103 24.0 79.0
8311 K FH R 47 43 90 10.8 79.2
8441 AR B— B 46 44 90 10.8 79.2
8541 BR HZE B 44 52 96 16.8 79.2
861z B KT £k 45 44 89 9.6 79.4
871 BR %X £k 47 48 95 15.6 79.4
88iL NE A B 52 49 101 21.6 79.4
8911 FE F— 53 50 51 101 21.6 79.4
901z L5 SIRTF £k 47 53 100 20.4 79.6
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911z MR BBX B 56 55 111 31.2 79.8
921 TE 8 (5 51 47 98 18.0 80.0
931z T ASB B 45 46 91 10.8 80.2
9443 FE K- B 52 50 102 21.6 80.4
951, EeR R R 56 58 114 33.6 80.4
961z 21 EiE B 48 54 102 20.4 81.6
971 B IESE (5 46 49 95 13.2 81.8
981z g A B 47 53 100 18.0 82.0
991, BrIER = £k 40 47 87 4.8 82.2
10041 HE F £k 53 44 97 14.4 82.6
10141 ER B B 51 58 109 26.4 82.6
10241 ER B8 £k 58 55 113 30.0 83.0
103f1 BE #= £k a7 53 100 16.8 83.2
10441 =R =5 B 61 60 121 37.2 83.8
10541 FE &5 B+ 56 50 106 21.6 84.4




